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Time: 3 Hours              Max. Marks: 80 

-------------------------------------------------------------------------- 
Note:- This paper is of eighty (80) marks containing 
three (03)  sections-A, B, and C. Learners are 
required to attempt the questions contained in these 
sections according to the detailed instructions given 
therein. 
uksV%& ;g iz'u&i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ 
[k.Mkas&d] [k] vkSj x esa foHkkftr gSA f”k{kkfFkZ;ksa dks bu 
[k.Mksa esa fn, x, foLr`r funsZ”kksa ds vuqlkj gh iz”uksa ds 
mRrj nuk gSA 

Section-A ¼[k.M&d½ 

(Long Answer Type Question) / ¼nh?kZ mÙkjh; iz'u½ 

Note:-  Section ‘A’ contains four (04) long-answer-
type questions of Nineteen (19) marks each. 
Learners are required to answer any two (02) 
questions only.   (2×19=38) 
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uksV%& [k.M ^d* esa pkj ¼04½ nh?kZ mÙkjh; iz'u fn;s x;s gSaA 

izR;sd iz'u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f'k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz'uksa ds mÙkj 

nsus gSaA 

1. What is discounting principle? What is its 

significance in managerial decision? 

NwV & fl)kaUr D;k gS\ izcU/kdh; fu.kZ;ksa esa bldk 

D;k egRo gS\ 

2. Define business economics. Discuss the nature 

and scope business economics. 

O;kolkf;d vFkZ”kkL= dk ifjHkkf’kr dhft,A 

O;kolkf;d vFkZ”kkL= dh izd`fr rFkk {ks= dh 

foospuk dhft,A 

3. Discuss the utility of demand forecasting and 

explain the criteria of a good forecasting 

method. 

ekax iwokZuqeku dh mi;ksfxrk dh foospuk dhft, 

rFkk ,d vPNh iwokZuqeku iz.kkyh ds eku n.Mksa dh 

O;k[;k dhft,A 

 



S-370/MCM-103/M.Com-06     3             P.T.O. 
 

4. Compare monopolistic and perfectly 
competitive markets with reference to level of 
production and Produce’s surplus. 

 mRiknu & Lrj rFkk mRiknd ds vf/kO;; ds 

n`f’Vdks.k ls ,dkf/kdkjh rFkk iw.kZ la)kfrd ctkjksa 

dh rqyuk dhft,A 

  Section-B ¼[k.M&[k½ 

(Short Answer Type Question) /¼y?kq mÙkjh; iz'u½ 

Note:-  Section ‘B’ contains eight (08) short answer 

type questions of Eight (08) marks each. 

Learners are required to answer four (04) 

questions only.    (4×8=32) 

uksV%&  [k.M ^[k* esa vkB ¼08½ y?kq mÙkjh; iz'u fn;s x;s 

gSaA izR;sd iz'u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f'k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz'uksa ds 

mÙkj nsus gSaA  

Explain the following : 

fuEufyf[kr dks Li’V dhft, % 

1. Macroeconomics. 

O;kid vFkZ”kkL=A 
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2. Substitution Effect. 

izfrLFkkiu izHkkoA 

3. Cross elasticity of demand. 

vkM+h ekax dh lkspA 

4. Fixed cost. 

fLFkj ykxrA 

5. Technical limit of production. 

mRiknu dh rduhdh lhekA 

6. Oligopoly. 

vYikf/kdkjA 

7. Causes of inflation. 

eqnzk LQhfr ds dkj.kA 

8. National Income. 

jk’Vªh; vk;A 

Section-C ¼[k.M&x½ 

(Objective Type Questions) / ¼oLrqfu"B iz'u½ 

Note:-  Section ‘C’ contains ten (10) objective type 
questions of One (01) marks each. All the 
questions of this section are compulsory.  

(1×10=10) 
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uksV%&  [k.M ^x* esa nl ¼10½ oLrqfu"B iz'u fn;s x;s gSa] 
izR;sd iz'u ds fy, ,d ¼01½ vad fu/kkZfjr gSaA bl 
[k.M ds lHkh iz'u vfuok;Z gSaA 

1. In a typical demand schedule, quantity 
demanded: 
(a) Varies directly with price. 
(b) Varies indirectly with price. 
(c) Varies inversely with price. 
(d) is independent of price 
,d lkekU; ekax&lwph ds vUrxZr ekaxh xbZ ek=k % 
(a) ewY; ds vuqlkj izR;l l:i ls ifjofrZr 

gksrh gSA 

(b) ewY; ds vuqlkj vizR;l l:i ls ifjofrZr  

gksrh gSA 

(c) ewY; ds foykse ds vuqlkj ifjofrZr gksrh gS 

(d) ewY; ls LorU= gksrh gSA 

2. Which of the following pairs of commodities in 

an example of substitutes? 

(a) Coffee and Milk. 

(b) Diamond and Tea. 

(c) Pen and ink. 

(d) Mustered oil and coconut oil. 
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fuEufyf[kr esa ls oLrqvkas dk dkSu lk ;qXe 

LFkkukiUu oLrqvksa dk mnkgj.k gSA 

(a) dkWQh rFkk nw/k 

(b) ghjk rFkk pk; 

(c) isu rFkk L;kgh 

(d) ljlksa dk rsy rFkk ukfj;y dk rsy 

 

3. If the quantity of a commodity demand 

remains unchanged, as its price changes, the 

price elasticity of demand is : 

(a) Greater than 1 

(b) Equal to 1 

(c) Less than 1 

(d) Zero 

;fn fdlh oLrq dh ekaxh xbZ ek=k mlds ewY; esa 

ifjorZu ls lHkh vioafrZr jgrh gS rks ekax dh ewY; 

yksp fuEu es ls D;k gksxh % 

(a) 1 ls vf/kd 

(b) 1 ds cjkcj 

(c) 1 ls de 

(d) “kwU; 
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4. National Income (NI) is less than Net National 

Product (NNP) by the amount of : 

(a) Transfer Payments 

(b) Capital consumption allowance 

(c) Indirect business taxes 

(d) Personal taxes 

fuEu esa ls fdl en ds dkj.k jk’Vªh; vk; “kq} 

jk’Vªh; mRikn ls de gksrh gS\ 

(a) LFkkukUrj.k Hkqxrku ls  

(b) iw¡th miHkksxk HkÙrs dh /kujk”kh ls 

(c) vizR;{k O;olkf;d djksa ls 

(d) O;fDrxr djksa ls 

5. A consumer is in equilibrium where? 

 (a) The price line cuts the indifference  

curve. 

(c) The price line a parallel to the  

indifference curve. 

(d) The price line is tangent to the  

indifference curve. 

(e) Tow indifference curves cut each  

other. 
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 ,d miHkksDrk lE; esa ogk¡ gksrk gS tgk¡% 

(a) ewY;js[kk rVLFkrk oØ dks dkVrh gSA 

(b) ewY;js[kk rkVLFkrk oØ lekukUrj gksrh gSA 

 (c) ewY;js[kk rVLFkrk oØ dks Li”kZ djrh gSA 

 (d) ewY;js[kk rVLFkrk oØ ,d nwljs dks dkVrs  

gSaA 

 6. Fixed cost in also known as: 

 (a) Special Cost 

 (b) Direct Cost 

 (c) Prime Cost 

 (d) Overhead Cost 

 fLFkj ykxr fuEu esa ls fdl vU; uke ls tkuk 

tkrk gSA 

(a) fo”ks’k ykxr ds :i esa HkhA 

(b) izR;l ykxr ds :i esa HkhA 

(c) ewy ykxr ds :i esa HkhA 

(d) mifjO;; ykxr ds :i esa HkhA 
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7. Which of the following is one of the essential 

conditions of perfect competition? 

 (a) Product differentiation 

 (b) Multiplicity of prices for identical  

products at any one time 

 (c) Many sellers  and few buyers 

 (d) Only one price for identical goods at  

any one time. 

 

fuEufyf[kr esa ls dkSu iw.kZ izfr;ksfxrk dh 

vR;ko”;d “krZ gSA 

(a) mRikn&foHksn 

(b) fdlh ,d le; ij ,d gh izdkj ds mRiknksa 

ds fy, vusd ewyA 

(c) vR;kf/kd la[;kvksa esa foØsrk rFkk de la[;k 

esa ØsrkA 

(d) ,d leku oLrq ds fy, ,d le; ij ,d 

leku ewY;A 
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8. Law of increasing returns impales: 

 (a) Constant average cost 

 (b) Diminishing cost per unit of output 

 (c) Optimum use of capital and other  

factors. 

 (d) External economics 

mRifÙk o`f) fu;e dk vFkZ fuEu esa ls D;k gS% 

(a) fLFkj vkSlr ykxr 

(b) izfrbdkbZ mRiknu dh fxjrh gqbZ ykxr 

(c) iw¡th rFkk vU; ?kVdksa dk vuqdwyre mi;ksx 

(d) ckg; ferO;f;rk,¡ 

9. Disguised unemployment is a state in which: 

 (a) More workers are engaged in a job  

than that is required. 

 (b) A few workers make no contribution  

in the job in which they are engaged. 

 (c) The marginal productivity labour is   

Zero. 

(d) Any of there may happen. 
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izPNUu csjkstxkjh ,d ,slh voLFkk gS ftlds 

vUrxZr% 

(a) fdlh dk;Z esa vko”;drk ls vf/kd deZpkjh 

yxs gksrs gSaA 

(b) dk;Z esa yxs dqN deZpkfj;ksa dk mRiknu esa 

dksbZ ;ksxnku ugha gksrkA 

(c) Hkze dh lhekUr mRikndrk “kwU; gksrh gSA 

(d) buesa ls dqN Hkh gks ldrk gSA 

 

10. Break even points is: 

 (a) Where total revenue equals total  

costs. 

 (b) Where total contribution equals  

variable costs. 

 (c) Where total revenue equals fixed  

cost. 

 (d) Located  in any of these conditions. 
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le&foPNsn fcUnq fuEu esa ls D;k gksrk gS\ 

(a) tgk¡ dqy vkxe dqy ykxr ds cjkcj gksrk 

gSA 

(b) tgk¡ dqy ;ksxnku ifjorZu”khy ykxr ds 

cjkcj gksrk gSA 

(c) tgk¡ dqy vkxe fLFkj ykxr ds cjkcj gksrk  

gSA 

(d) buesa ls fdlh Hkh voLFkk esaA 

 

 

***** 


